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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 
(ii) ^mJ A : àíZ g§»`m 1 go 5 VH$ A{V bKw-CÎmar` àíZ h¢ Am¡a àË`oH$ àíZ Ho$ 

{bE 1 A§H$ h¡ & 
(iii) ^mJ ~ : àíZ g§»`m 6 go 12 VH$ bKw-CÎmar` àíZ h¢ Am¡a àË`oH$ àíZ Ho$ {bE 

2 A§H$ h¡§ & 
(iv) ^mJ g : àíZ g§»`m 13 go 24 VH$ ^r bKw-CÎmar` àíZ h¢ Am¡a àË`oH$ àíZ Ho$ 

{bE 3 A§H$ h¢ & 
(v) ^mJ X : àíZ g§»`m 25 go 27 VH$ XrK©-CÎmar` àíZ h¢ Am¡a àË`oH$ àíZ Ho$ 

{bE 5 A§H$ h¢ & 
(vi) àíZ nÌ _| g_J« {dH$ën Zht {X`m J`m h¡ & {\$a ^r EH$ A§H$ dmbo Xmo àíZm| _|, 

Xmo A§H$m| dmbo Xmo àíZmo§ _|, VrZ A§H$m| dmbo Mma àíZm| _| VWm nm±M A§H$m| dmbo 
VrZ àíZm| _| {dH$ën {X`m J`m h¡ & Eogo g^r àíZm| _| go AmnH$mo EH$ hr {dH$ën 
H$m CÎma XoZm h¡ &  

(vii) `{X Amdí`H$Vm hmo, Vmo Amn bKwJUH$s` gma{U`m± _m±J gH$Vo h¢ & H¡$ëHw$boQ>am| 
Ho$ à`moJ H$s AZw_{V Zht h¡ & 

General Instructions : 

(i) All questions  are compulsory. 

(ii) Section A : Q. no. 1  to  5  are  very  short answer  questions 
 and  carry 1 mark each. 

(iii) Section B : Q. no. 6 to 12 are short answer questions and carry 
2 marks each. 

(iv) Section C : Q. no. 13 to 24  are  also  short answer  questions 
and carry 3 marks each. 

(v) Section D : Q. no. 25 to 27 are long answer questions and carry 
5 marks each. 

(vi) There is no overall choice. However, an internal choice has been 
provided in two questions of one mark, two questions of two 
marks, four questions of three marks and all the three 
questions of five marks weightage. You have to attempt only one 
of the  choices in such questions. 

(vii) Use log tables, if necessary. Use of calculators is not allowed. 
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  ^mJ> A 

SECTION A 

1. EH$ `m¡{JH$ H$m gyÌ Š`m h¡ {Og_| VÎd ‘Y’ hcp OmbH$ ~ZmVm h¡ VWm ‘X’ Ho$ 
na_mUw EH$-{VhmB© AîQ>\$bH$s` [a{º$`m± AÜ`m{gV H$aVo h¢ ?  1 

                                      AWdm                                              

 EH$ `m¡{JH$ H$m gyÌ {b{IE {Og_| VÎd ‘Y’ hcp OmbH$ ~ZmVm h¡ VWm ‘X’ Ho$ 
na_mUw Xmo-{VhmB© MVwî\$bH$s` [a{º$`m± AÜ`m{gV H$aVo h¢ & 1  

What is the formula of a compound in which the element ‘Y’ 

forms hcp lattice and atoms of ‘X’ occupy 1/3rd of octahedral  

voids ?   

OR 

Write the formula of the compound in which element ‘Y’ forms 

hcp lattice and atoms of ‘X’ occupy 2/3rd of tetrahedral voids.  

2. H3PO3 H$s jmaH$Vm Š`m h¡ ? 1 

                  AWdm                                                        

 XeF4 H$s AmpÊdH$ Á`m{_{V H$m Zm_ ~VmBE &  1 
What is the basicity of H3PO3 ?  

OR 

Name the molecular geometry of XeF4.   

3. [Fe(CN)6]4 VWm [Fe(CN)6]3 Ho$ VZw {db`Zm| _| {^Þ a§J h¢ & Š`m| ?  1 

[Fe(CN)6]4 and [Fe(CN)6]3 are of different colours in dilute 

solutions. Why ?   

4. ~oÝµOmoBH$ Aåb {\«$S>ob-H«$mâQ²>g A{^{H«$`m Zht XoVm h¡ & Š`m| ?   1 

Benzoic acid does not give Friedel-Crafts reaction. Why ?  
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5. {dQ>m{_Z C H$m amgm`{ZH$ Zm_ Š`m h¡ ? BgH$s H$_r go hmoZo dmbr EH$ ~r_mar 
H$m Zm_ ~VmBE & 1   

What is the chemical name of vitamin C ? Name one disease 

caused by its deficiency.  

 

  ^mJ> ~ 

SECTION B 

6. H$maU ~VmBE : 2 

(a) Ðd A_mo{Z`m H$s ~moVb H$s grb ImobZo Ho$ nhbo BgH$mo R>ÊS>m {H$`m 
OmVm h¡ &  

(b) Obr` àOm{V`m± J_© Ob H$s VwbZm _| R>ÊS>o Ob _| Á`mXm Amam_Xm`H$ 
ahVr h¢ &  

Give reasons :  

(a) The bottle of liquid ammonia is cooled before opening the 

seal.  

(b) Aquatic species are more comfortable in cold water than 

in warm water.  

7. EH$ àW_ H$mo{Q> H$s A{^{H«$`m H$m doJ pñWam§H$ 2.54  103 s1 nm`m J`m & 
BgH$s VrZ-Mm¡WmB© Am`w H$m n[aH$bZ H$s{OE & 

 [{X`m J`m h¡ : log 2 = 0.3010] 2 

                                             AWdm                        

 EH$ àW_ H$mo{Q> H$s A{^{H«$`m Ho$ 50% nyU© hmoZo _| 30 {_ZQ> bJVo h¢ & 90% 

nyU© hmoZo _| bJZo dmbo g_` H$m n[aH$bZ H$s{OE & 
 [{X`m J`m h¡ : log 2 = 0.3010] 2 
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Rate constant for a first order reaction has been found to be 

2.54  103 s1. Calculate its three-fourth life.  

[Given : log 2 = 0.3010] 

OR 

A first order reaction takes 30 minutes for 50% completion. 

Calculate the time required for 90% completion.  

[Given : log 2 = 0.3010]    

8. {ZåZ{b{IV H$mobm°BS>r {db`Zm| _| n[a{jßV àmdñWm Ed§ n[ajonU _mÜ`_ H$mo 
nhMm{ZE :  2 

(a) nZra 

(b) àbon (n|Q>) 

Identify the dispersed phase and dispersion medium in the 

following colloidal solutions : 

(a) Cheese 

(b) Paints  

 

9. {ZåZ{b{IV _| go H$m¡Z-gm {dÚwV²-AnKQ²>` As2S3 gm°b Ho$ ñH§$XZ Ho$ {b`o 
gdm©{YH$ à^mdr h¡ Am¡a Š`m| ? 2 

 AlCl3,  KCl,  CaCl2   

  AWdm                                                        

 H$maU ~VmBE :  2 

(a) ~«mCZr J{V H$mobm°BS>r {db`Z H$mo ñWm{`Ëd àXmZ H$aVr h¡ &  

(b) ewÕ H$aZo na M_‹S>m H$R>moa hmo OmVm h¡ &   
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Which of the following electrolytes is most effective for the  

coagulation of As2S3 sol and why ?   

  AlCl3,  KCl,  CaCl2 

OR 

Give reasons :  

(a) Brownian movement provides stability to the colloidal 

solution.  

(b) Leather gets hardened on tanning.  

 

10. {ZåZ{b{IV ê$nmÝVaU H¡$go {H$E Om`|Jo : 2 

(a) ~oÝµOmoBH$ Aåb go ~oÝµO¡pëS>hmBS> 

(b) EogrQ>mo{\$Zm°Z go 2-\o${Zb-ã`yQ>oZ-2-Am°b  

How are the following conversions carried out :  

(a) Benzoic acid to Benzaldehyde  

(b) Acetophenone to 2-Phenyl-Butan-2-ol  

11. {ZåZ{b{IV ~hþbH$m| Ho$ EH$bH$ Ho$ Zm_ Ed§ g§aMZmAm| H$mo {b{IE :  2 

(a) Zm°dboH$ 

(b) ã`yZm-N 

Write the names and structures of the monomer of the 

following polymers :  

(a) Novalac   

(b) Buna-N 
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12. {ZåZ{b{IV ~hþbH$m| H$mo AmpÊdH$ ~bm| Ho$ AmYma na dJuH¥$V H$s{OE :  2 

(a) ZmBbm°Z 

(b) {ZAmoàrZ 

(c) nm°{bdmB{Zb 

(d) `y[a`m \$m°_}ëS>rhmBS> 

Classify the following polymers on the basis of molecular  

forces :  

(a) Nylon  

(b) Neoprene  

(c) Polyvinyls  

(d) Urea formaldehyde  

 

  ^mJ> g 

SECTION C 

 

13. EH$ VÎd bcc OmbH$ _| {H«$ñQ>brH¥$V hmoVm h¡ & BgH$s H$mo{ð>H$m Ho$ H$moa H$s 
bå~mB© 400 pm h¡ & `{X Bg VÎd Ho$ 250 g _| 2.5  1024 na_mUw h¢, Vmo 
KZËd H$m n[aH$bZ H$s{OE &  3  

  AWdm                                                        

 EH$ VÎd fcc OmbH$ _| {H«$ñQ>brH¥$V hmoVm h¡ & BgH$s H$mo{ð>H$m Ho$ H$moa H$s 
bå~mB© 400 pm h¡ & VÎd H$m KZËd 7 g cm3 h¡ & 280 g VÎd _| {H$VZo 
na_mUw CnpñWV h¢ ?  3 
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An element crystallizes in a bcc lattice with cell edge of  

400 pm. Calculate the density if 250 g of this element contains 

2.5  1024 atoms.   

OR 

An element crystallizes in a fcc lattice with cell edge of 400 pm. 

The density of the element is 7 g cm3. How many atoms are 

present in 280 g of the element ?  

 

14. 500 g Ob _| {H$VZm CaCl2 (_moba Ðì`_mZ 111 g mol1) {_bmZm Mm{hE 

{H$ Ob H$m {h_m§H$ 2 K H$_ hmo OmE ? `h _mZ br{OE {H$ CaCl2 H$m nyU© 

{d`moOZ hmoVm h¡ & Ob Ho$ {bE Kf = 1.86 K kg mol1 3 

Calculate the amount of CaCl2 (molar mass 111 g mol1) which 

must be added to 500 g of water to lower its freezing point by 

2 K assuming CaCl2 is completely dissociated. Kf for  

water = 1.86 K kg mol1. 

 

15. {ZåZ{b{IV Ho$ {b`o Š`m CÎmaXm`r h¡ : 3 

(a) dm`w _| Am°ŠgrOZ àMwa _mÌm _| h¡ bo{H$Z H$j Vmn na BªYZ AnZo Amn 
Zht ObVm h¡ &  

(b) My{U©V bH$‹S>r, bÆ>o H$s bH$‹S>r H$s VwbZm _| VoOr go ObVr h¡ &  

(c) g_wÐr Vb VWm D±$MmB© XmoZm| ñWmZm| na àoea Hw$H$a Ho$ à`moJ go ImZm 
nH$mZo Ho$ g_` _| H$moB© AÝVa Zht AmVm h¡ & 
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Account for the following :  

(a) Oxygen is available in plenty in air, yet fuels do not burn 

by themselves at room temperature.  

(b) Powdered wood burns faster than a log of wood.  

(c) There is no difference in cooking time between sea level 

and higher altitude when a pressure cooker is used at 

both the places.  

 

16. {ZåZ{b{IV YmVwH$_© g§MmbZ _| gpå_{bV {gÕmÝVm| H$mo g§jon _| ~VmBE & àË`oH$ 
H$m EH$ CXmhaU Xr{OE &  3 

(a) d¡Z AmH}$b {d{Y 

(b) \o$Z ßbdZ {d{Y 

  AWdm                                                        

H$maU ~VmBE : 3 

(a) g§Hw$b [Ag(CN)2] go YmpËdH$ {gëda H$s àm{ßV qµOH$ Ho$ à`moJ go hmoVr 
h¡ Z {H$ H$m°na go &   

(b) Eobw{_Zm H$m grYo hr {dÚwV²-AnKQ>Z Ho$ ~Om` H«$m`mobmBQ> _| {dbo` H$aHo$ 
H$aVo h¢ &  

(c) qµOH$ Am°ŠgmBS> H$m~©Z Ho$ gmW AnM{`V hmoH$a YmVw XoVm h¡ O~{H$ 
Cr2O3 Zht &     

State briefly the principles involved in the following operations 

in metallurgy. Give one example for each.   

(a) Van Arkel Method  

(b) Froth Floatation Process 

OR 
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Give reasons :  

(a) Zinc and not copper is used for the recovery of metallic 

silver from complex [Ag(CN)2].   

(b) Alumina is dissolved in cryolite for electrolysis instead of 

being electrolysed directly.  

(c) Zinc oxide can be reduced to metal by heating with 

carbon but not Cr2O3.   

 

17. EH$ nma^mgr ídoV _mo_ R>mog (A) H$mo A{H«$` dmVmdaU _| J_© H$aZo na `h BgHo$ 
Anaê$n (B) _| n[ad{V©V hmoVm h¡ & Anaê$n (A) H$s A{^{H«$`m VZw Obr` 
KOH Ho$ gmW H$admZo na {df¡br J¡g (C) XoVm h¡ {OgH$s g‹S>r hþB© _N>br O¡gr 
J§Y h¡ & ŠbmoarZ Ho$ Am{YŠ` _| (A) go (D) ~ZVm h¡ Omo {H$ Ob-AnK{Q>V hmoH$a 
`m¡{JH$ (E) XoVm h¡ & `m¡{JH$ A go E VH$ nhMm{ZE &   3 

A translucent white waxy solid (A) on heating in an inert 

atmosphere is converted to its allotropic form (B). Allotrope (A) 

on reaction with dilute aqueous KOH liberates a highly 

poisonous gas (C) having rotten fish smell. With excess of 

chlorine (A) forms (D) which hydrolyses to compound (E). 

Identify the compounds A to E.     

 

18. {ZåZ{b{IV Ho$ {bE Š`m CÎmaXm`r h¡ : 3 

(a) ewÕ h¡bmoOZm| go AÝVamh¡bmoOZ `m¡{JH$ A{YH$ A{^{H«$`merb hmoVo h¢ &  

(b) H$j Vmn na ZmBQ´>moOZ H$_ A{^{H«$`merb h¡ &  

(c) NH3 go BiH3 VH$ AnMm`H$ JwUY_© _| d¥{Õ hmoVr h¡ &   
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Account for the following :   

(a) Interhalogen compounds are more reactive than pure 

halogens.   

(b) Nitrogen is less reactive at room temperature.   

(c) Reducing character increases from NH3 to BiH3.  

19. (a) IUPAC {Z`_ H$m Cn`moJ H$a gyÌ {b{IE :  

(i) nmoQ>¡{e`_Q´>oQ>mŠbmo[aS>mo {ZH$b oQ> (II) 

(ii) h¡ŠgmEoå_rZ H$mo~mëQ> (III) gë\o$Q> > 

(b) MVwî\$bH$s` g§Hw$b h_oem CÀM-MH«$U g§Hw$b Š`m| hmoVo h¢ ?   2,1   

(a) Using IUPAC norms, write the formula of :  

(i) Potassiumtetrachlorido nickelate (II) 

(ii) Hexaammine cobalt (III) sulphate  

(b) Why are tetrahedral complexes always high spin 

complexes ?  

20. {ZåZ{b{IV Ho$ {bE Š`m CÎmaXm`r h¡ :  3 

(a) SN1 A{^{H«$`m Ho$ à{V ~|{µOb ŠbmoamBS> AË`{YH$ A{^{H«$`merb h¡ &  

(b) a¡{g{_H$ {_lU àH$m{eH$ {Z{îH«$` h¡ &  

(c) h¡bmoEoarZm| _| Am°Wm} Ed§ n¡am pñW{V`m| na ZmBQ´>mo g_yh H$s CnpñW{V 
Zm{^H$ñZohr à{VñWmnZ A{^{H«$`m H$s A{^{H«$`merbVm H$mo ~‹T>mVr h¡ &   

  AWdm                                                        
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 {ZåZ{b{IV Ho$ {bE Š`m CÎmaXm`r h¡ : 2 

(a) `Ú{n ŠbmoarZ EH$ BboŠQ´>m°Z AnZ`Z g_yh h¡ {\$a ^r BgH$m BboŠQ´>m°ZñZohr 

Eoamo_o{Q>H$ à{VñWmnZ A{^{H«$`m _| Am°Wm} Ed§ n¡am {ZX}eH$ à^md h¡ &  

(b) Eo[ab h¡bmBS>m| H$s VwbZm _| EopëH$b h¡bmBS> AÀN>o {dbm`H$ h¢ & 

(c) J«rÝ`ma A{^H$_©H$ Ho$ Cn`moJ Ho$ Xm¡amZ Z_r H$s Aën _mÌm H$mo ^r Q>mbZm 

Š`m| Amdí`H$ h¡ ?  

Account for the following :  

(a) Benzyl chloride is highly reactive towards SN1 reaction. 

(b) Racemic mixture is optically inactive.  

(c) The presence of nitro group at ortho/para positions 

increases the reactivity of haloarenes towards 

nucleophilic substitution reaction.   

OR 

Account for the following :  

(a) Although chlorine is an electron withdrawing group, yet 

it is ortho, para directing in electrophilic aromatic 

substitution reaction.   

(b) Alkyl halides are better solvents than aryl halides. 

(c) Why is it necessary to avoid even traces of moisture 

during the use of Grignard’s reagent ?    
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21. EH$ H$m~©{ZH$ `m¡{JH$ (A) H$s A{^{H«$`m E{Wb EoëH$mohm°b go H$aZo na 

H$m~m}pŠg{bH$ Aåb (B) VWm `m¡{JH$ (C) XoVm h¡ & (C) H$m Aåbr` Xem _| 

Ob-AnKQ>Z H$aZo na (B) VWm (D) XoVm h¡ & (B) H$mo H¡$pëe`_ hmBS´>moŠgmBS> 
H$s CnpñW{V _| J_© H$aZo na C3H6O (E) XoVm h¡ & (E) Q>m°boZ narjU Zht XoVm 

h¡ bo{H$Z 2,4-DNP go A{^{H«$`m H$aVm h¡ & A, B, C, D VWm E H$s g§aMZmAm| 

H$mo nhMm{ZE &   3 

An organic compound (A) on treatment with ethyl alcohol gives 

a carboxylic acid (B) and a compound (C). Hydrolysis of (C) 

under acidic conditions gives (B) and (D). (B) upon heating 

with calcium hydroxide gives (E) C3H6O. (E) does not give 

Tollen’s test but reacts with 2,4-DNP. Identify the structures 

of A, B, C, D and E.   

22. EH$ Eoamo_o{Q>H$ `m¡{JH$ (A), {OgH$m AUwgyÌ C7H7ON h¡, ZrMo Xem©`r JB© 
A{^{H«$`m ûm¥§Ibm Ûmam JwOaVm h¡ & {ZåZ A{^{H«$`mAm| _| A go E VH$ H$s 
g§aMZmAm| H$mo {b{IE :  3 

 

An aromatic compound (A) of molecular formula C7H7ON 

undergoes a series of reactions as shown below. Write the 

structures of A to E in the following reactions : 

 



56(B) 14 

23. {ZåZ{b{IV nXm| H$mo n[a^m{fV H$s{OE :   3 

(i) EoZmo_a 
(ii) àmoQ>rZ H$m {dH¥$VrH$aU 
(iii) Ý`ypŠbAmoQ>mBS>   
Define the following terms :   

(i) Anomers 

(ii) Denaturation of protein 

(iii) Nucleotide    

24. (a) gm~wZ Xþ~©b ny{VamoYr h¡ & BgH$s ny{VamoYr j_Vm H$mo ~‹T>mZo Ho$ {bE Bg_| 
Š`m {_bm`m Om gH$Vm h¡ ?   

(b) Cg Am¡f{Y Ho$ dJ© H$m Zm_ ~VmBE Omo J«¡_-J«mhr (J«¡_ nm°{O{Q>d) VWm  
J«¡_-AJ«mhr (J«¡_ {ZJo{Q>d) XmoZm| àH$ma Ho$ OrdmUwAm| Ho$ {dñV¥V namg H$m 
{dZme H$aVo h¢ AWdm {ZamoY H$aVo h¢ &  

(c) {ZåZ{b{IV _| go H$m¡Z-gm ImÚ n[aajH$ h¡ ?  3 

 gmo{S>`_ pñQ>EoaoQ>, gmo{S>`_ ~oÝµOmoEoQ>, gmo{S>`_ bm°[ab gë\o$Q>  

  AWdm                                                        

{ZåZ{b{IV nXm| H$mo n[a^m{fV H$s{OE : 3 

(a) à{V-Aåb 

(b) ny{VamoYr 

(c) H¥${Ì_ _YwaH$   
(a) Soap is a weak antiseptic. What may be added to soap to 

improve its antiseptic action ?   

(b) Name the class of drugs used to kill or inhibit a wide 

range of Gram positive and Gram negative bacteria.  

(c) Which of the following is a food preservative ?  

 Sodium stearate, Sodium benzoate, Sodium lauryl 

sulphate    

OR 
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Define the following terms :  

(a) Antacids  

(b) Antiseptics  

(c) Artificial sweeteners 

 

  ^mJ> X 

SECTION D 

 

25. (a) EH$ gob _| {ZåZ A{^{H«$`m hmoVr h¡ :   

 2 Fe
3+

(aq) + 2 I

 (aq)   2 Fe

2+ 
(aq) + I2 (s)  

298 K na V236.0Eo
cell

  h¡ & _mZH$ {JãµO D$Om© VWm gmå`mdñWm 

pñWam§H$ H$m n[aH$bZ H$s{OE &  1 F = 96500 C mol
–1

 

 

(b) BªYZ gob H$mo n[a^m{fV H$s{OE VWm BgHo$ gmYmaU gob H$s VwbZm _| Xmo 
bm^ {b{IE &  3+2> 

  AWdm                                                        

(a) 0.1 mol L1 KCl {db`Z go ^ao hþE EH$ MmbH$Vm gob H$m à{VamoY 

100  h¡ & `{X Cgr gob H$m à{VamoY 0.02 mol L1 KCl {db`Z 

^aZo na 520  hmo, Vmo 0.02 mol L1 KCl {db`Z H$s MmbH$Vm Ed§ 

_moba MmbH$Vm n[aH${bV H$s{OE & 0.1 mol L1 KCl {db`Z H$s 

MmbH$Vm 1.29 Sm1 h¡ &      

  

(b) _H©$ar gob _| EoZmoS> Ed§ H¡$WmoS> na hmoZo dmbr A{^{H«$`mE± {b{IE &  3+2 
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(a) The cell in which following reaction occurs : 

 2 Fe
3+

(aq) + 2 I

 (aq)   2 Fe

2+ 
(aq) + I2 (s)  

has V236.0Eo
cell

  at 298 K. Calculate the standard 

Gibbs energy and the equilibrium constant.  

1 F = 96500 C mol
1

  

(b) Define fuel cell and write its two advantages over an 

ordinary cell.  

OR 

(a) Resistance of a conductivity cell filled with 0.1 mol L
1 

KCl solution is 100 . If the resistance of the same cell 

filled with 0.02 mol L
1

 KCl solution is 520 , calculate 

the conductivity and molar conductivity of  

0.02 mol L
1

 KCl solution. The conductivity of 

0.1 mol L
1

 KCl solution is 1.29 Sm
1

. 

(b) Write the anode and cathode reactions that occur in 

mercury cell.  

 

26. {ZåZ Ho$ {b`o Š`m CÎmaXm`r h¡ : 5 

(a) Fe2+ H$s {ÌÁ`m Mn2+ H$s {ÌÁ`m go H$_ hmoVr h¡ & 

(b) H«$mo{_`_ EH$ àê$nr H$R>moa YmVw h¡ O~{H$ _H©$ar Ðd h¡ &  

(c) à~b {bJ|S> H$s CnpñW{V _| Co (II) AmgmZr go Am°ŠgrH¥$V hmo OmVm h¡ & 

(d) KMnO4 AZw_mnZ _| HCl H$m Cn`moJ Cn`wº$ Zht h¡ &  

(e) K2Cr2O7 Ho$ VZw {db`Z _| H2S Ho$ àdmh go Xy{Y`mnZ AmVm h¡ &   

  AWdm                                                        
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(a) {ZåZ{b{IV _| go {H$gHo$ Obr` {db`Z a§JrZ hm|Jo VWm Š`m| ?  

 Ti3+,  V3+,  Cu+,  Sc3+,  Mn2+,  Fe3+,  Co2+ 

 

(b) {ZåZ{b{IV A{^{H«$`mAm| Ho$ {bE g§Vw{bV Am`{ZH$ A{^{H«$`mE±  
{b{IE :  

(i) 
–
4MnO  + H

+ 
+

 
S

2 
  

(ii) 
–
4MnO  + H

+ 
+ Fe

2+
 
 
  3+2 

 

Account for the following :  

(a) The radius of Fe2+ is less than that of Mn2+.  

(b) Chromium is a typical hard metal while mercury is 

liquid.  

(c) Co (II) is easily oxidized in the presence of strong ligand.   

(d) It is not advisable to use HCl in KMnO4 titrations.  

(e) When H2S is passed through a dilute solution of 

K2Cr2O7, milkiness appears.    

OR 

(a) Predict which of the following will be coloured in aqueous 

solution and why ?  

 Ti3+,   V3+,   Cu+,   Sc3+,   Mn2+,   Fe3+,   Co2+ 

(b) Write the balanced ionic equations for the following 

reactions : 

(i) 
–
4MnO  + H

+ 
+

 
S

2 
  

(ii) 
–
4MnO  + H

+ 
+ Fe

2+
 
 
  
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27. (a) {ZåZ{b{IV ê$nmÝVaU H¡$go H$a|Jo :   

(i) µ\$sZm°b go Q>m°byB©Z 

(ii) EWoZm°b go _oW¡Z 

(b) {ZåZ{b{IV `m¡{JH$ `w½_m| H$mo {d^o{XV H$aZo Ho$ {b`o amgm`{ZH$ narjU 
Xr{OE : 

(i) _oW¡Zm°b VWm EWoZm°b 

(ii) p-_o{Wb µ\$sZm°b VWm _oWm°Šgr ~|µOrZ 

(c)  OH              

                             |  

 CH2 = CH  CH  CH2  CH3   H$m IUPAC Zm_ {b{IE & 5  

  AWdm                                                        

(a) EoëH$mohm°bm| H$s gm§Ð gëâ`y[aH$ Aåb H$s CnpñW{V _| {ZO©brH$aU H$s 
{H«$`m{d{Y {b{IE &  

(b) H$maU ~VmBE :   

(i) µ\$sZm°b _| C  O Am~§Y EWoZm°b H$s Anojm N>moQ>m hmoVm h¡ &  

(ii) EWoZm°b H$m ŠdWZm§H$ BgHo$ g_md`d _oWm°Šgr _oW¡Z H$s VwbZm _| 
A{YH$ hmoVm h¡ &  3+2 

(a) How are the following conversions carried out :    

(i) Phenol to Toluene  

(ii) Ethanol to Methane 

(b) Give chemical tests to distinguish between the following 

pairs of compounds : 

(i) Methanol and Ethanol  

(ii) p-Methyl phenol and Methoxy benzene  
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(c) Write IUPAC name of  

  OH              

                              |  

 CH2 = CH  CH  CH2  CH3   

OR 

(a) Write mechanism for the dehydration of alcohols in the 

presence of concentrated sulphuric acid.  

(b) Give reasons : 

(i) C  O bond is much shorter in phenol than in 

ethanol.  

(ii) Boiling point of ethanol is higher in comparison to 

methoxy methane which is an isomer of ethanol.  

 

 


